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Find the tripling time for money invested at P percent compounded
continuously. (97 % 45)
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-1, if x<0
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1 if x=1
Determine the value of o and p suchthat f(x} is continue.
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Find the tangent line of the curve (x* + y*)* = (x~3)* at (1,~1).

(UHAHE) |

[ HREEREAT ]
A Fy) =4y = (=)
= F(L-1) = 4x(x" + *) - 2(x - ») lsgp=a,-n=4
F,(1L=1) =4y(x* + y*) +2(x = ) | yyetn = —4

SRR
[F (=D +[F (L-D]y =[F,0,~D]- 1+ [F,(L,-1)]- (1)

= dx—-4y=8=>x-y=2

% {curvature )
Wi b2k Pla,b) i Bk & .

WE&EWE . x=x(),y=yO)=>k=

(0" - ") @)
3

(N + (' ()32




#o%

II|

|y

g 2-55

@SB y=f()Dh=———
{1+()*}2
L .
FRRE N

2 2

4 P(1,2) BamET = {(x, ) “%“ +%«~« - 1} kB~

(VAKRFE P BE Lo Btskm i o
L (2)RFE P25 FAmEEe) s 8 (curvature )

(933 RAE) )

- [ tERERRAT )
2 2
(1}%F(x,y)x%+%=1 ,
i y V2
BRI R = (F(a,0), 7 (@,0)) = (62 ey = (50

1 V2 2 1
%{ﬁfmﬁ—z[;?}:(\g,ﬂ
/12 +(»~\§J ’

(D% x =2 080,y = 2sin0 = (x, y) = (1,2) B§0 = 7

:>x'=~«/§sin€,x”m—~— 2cos8 ; ¥ =2c088,y" =-25ind

X ()"} = 2"y )]

(=) + (3”(0)2};i
](—wfisine)(—Zsiu g)- (—\/5 cosG)(Z cos@)’

3

{(—\Esin@):2 +(20058)2}2

mkwt

T

0=l
4

o=l
4




2-56 s

Euestion practice -

.............................................................................................................................................................................

B S R e BEHMAEE  WE g =x & fx)=1+[f®] - ﬁJ
g'x)=7

(90% k) |
i 2.The derivate of y" with respectto »° is

<A)~’;—y""3 ®w™? ©3m" 3™ (Edoes not exist.
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3.Find fim (sinx)™" =?
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4. A liquor warehouse expects to sell [} bottles of scotch whiskey in a year

Each bottle costs $P, plus a fixed charge of $F per order. If it costs $H

to store a bottle for a vear, how many orders should the warehouse place in a
year to minimize inventory cost? (94 k)

5 EREIEME L + )7 - 3ay = 0702, 34) 2 USRI = (896 KRAT)
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7. lim n 1n(“/E +33

lim 5 y=2 (897 R AME)
8. A circle of radius 1 with center on the y-axis is inscribed in (AGJHY) the
parabola y = x* . The points of intersection are? (RO & A48
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10.Graph y = 4x——1+---~1~ and locate all extreme points and determine if they
x —

are relative maximum or relative minimum points. (88ELA B )




